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Chapter 3,5 — Polynomial Applications (Word Problems)

Many real-life situations can be modeled by polynomial functions. Solutions to these functions
may be rational, and can be solved by methods learned in this Unit. Other solutions are purely
irrational, requiring the help of a graphing calculator. Any word problems that appear on the
Unit Test will not require the use of a graphing calculator. Thus, while graphing calculator

questlons will be assigned in the homework, they are not testable. 7hat sod  awy wer =4 prob e
’ *H,LM is fectalle | bud wewld not requvire = oyl cale . _,C_’D Solye . é&_ o d)
Egl: Aboxis constructed such that the length is tw1ce the width and the-height is 2 cm longer

than the width. The volume of the box is 350 cm>. Find the dimensions of the box.
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Eg2: A vitamin capsule has the shape of a right circular cylinder with hemispheres on each end.
The total length of the capsule is 14 mm and its volume is 108 mm?®. Find the radius of the

capsule.
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Eg3: An open rectangular box is constructed by cutting a square of length x from each corner of
a 12 cm by 15 cm rectangular piece of cardboard, then folding up the sides. What is the length
of the square that must be cut from each corner if the volume of the box is 112 cm>? Note: x

must be larger than 1.
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Eg4: The production of x Tesla Model S cars produces revenue of:

R(x) = 4x? + 6x

and costs:

i 3
Clx) = —x —Zx —4x + 100

At what point does Tesla make a profit? (ie. within what domain is a profit produced?)

Hint: Profit is gained when Revenue > Costs
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Homework: p.102-103 #1, 3-7, 9, 11 (without graphing calc.); #2, 8, 10, 12 (with)...also do Chapter Review.



